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Circles and Circumference 850 hoes s J.JJ SV Bt fo

1) MODELING The circumference of the circular
swimming pool shown is about 56.5 meters.
What are the diameter and radius of the pool?

Round to the nearest hundredth. : ‘ 1 '
@17.98&;8.99& c) 16.98ft;7.99ft B
b)17.89ft;8.99ft d) 16.89ft ;7.99ft

T Zz

2 *59
2) SHORT RESPONSE The right triangle shown is inscribed in ®D.
Find the exact circumferexnie of ©D. ’
= 8cm
@4% 13cm "’U“)&; c) my/13em
oA NG
b) 2my/13cm d)67r 13cm
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3) PIZZA Find the radius and circumference of the pizza shown. Round to the nearest hundredth,

a) 8in;50.27in c) 8in;50.72in

b) 4in,50.72in d) 8in;50in
@J‘—‘-Miﬂ C:7Z‘a[:7[‘;([o’
@rflzi:gin C =T 2 50.27 iy

gl s el Jilca == ety ilgilt sl duasd

1) The diameters of ®A, @B, and ®C are 8 centimeters,
18 centimeters, and 11 centimeters, respectively. Find each measure.

FG , FB

(2)FG=14,FB=5 ¢) FG=8, FB=6
b) FG=5,FB=14 d) FG=6,FB=8
FG= 5+ 9z )Y

FB=%
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2) Circle J has a radius of 10 units, @K has a radius
of 8 units, and BC = 5.4 units. Find each measure.

CK;8"5'V:2,5

AB —
- AJ--"-J-E: 10+C)o—5‘-7_) :-}9‘5

IK <s s

Measuring Angles and Arcs u-“‘3§3’|_9 b‘j}”

1) PRECISION HK and IG are diameters of L. Identify each arc as a
major arc, minor arc, or semicircle. Then find its measure.

WH] = 36090 = 225
mAl — 5-9"

2) Q._S' is a diameter of @V, Find each measure.
mSIP =75 572" = Jyz° Qéﬁ\s

~— 75°
mQRT:9o+9a+?52:_25f P

mﬁQTi = 90 »7F
QP:IQG -t5-72

= |2z



3) What is the value of x?

A 120 366-13, _o5
C 145 B
D 160

Arcs and Chords sty 565915 eta38 o OEMell Je 5,0l

ALGEBRA Find the value of x.

1) % X =g
AC/;\B 2ol IS
; j X =24
E\_/D
65x°
F J
70°<“ oc =2,
¢ = FT §aln b grtle?



3)  108° 36o —Jo€ 2257 @
[ P x=259 _,y b;100°
- c)130
x° d)120
M
PN - o
. 143° =l =g a)73
% 2 :JL,?_,_j b o
o 18 Jlx—1) 22 =144 )7(1
W = = c)71
- .
) M/;:\N . jf—ﬁé a; 5
. bk b)6
(3x+5) /g 22 204 g
P 32 =2y @
<3 d)s



7) If CW = WF and ED = 30, what is DF?

A 60
B 45

ED:DF =305

Inscribed Angles d.ta.oealiUigylt Lol Sloes

1) mbR <= 2x87- |;f a) 180
H b)162
c)160o
d)81’
81°




al =" 55,
== o
2)mzK K " |
K = 2———){092 b) 920
= 44 .
_ _ €)93
J C —
92 ozed/omls s =
3) meP 120° MEPE 2 X a)140
P = F b) 70"
i c)120’
100 d)100

i M n fic =
A Z X2y Y b)24o
5 > (oRAP d)84



Gl=20; J c)9(,2>

U d)10

6) m4sS R ““E—F:fgo..yg a) 480

:.')._?29 b) 1320

—
+ el = :_2/_' X172 @6\60)

T . d)180

S 48°

7) In the circle below, mAC = 160 and A
m/ZBEC = 38. What is mZAEB? ﬁ 6o
4
CaA 42 ) C 80 gl B
B 61 D 84 @

O WmES =2 x2g = =
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= ol el =28 @3 26

@py Dbl b) 34
P xe c)14
d)21.8




a)10
b) 12

d)6
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measures of angles formed by lines intersecting on or inside a circle

0
Find each measure. a) 900
1) ms3 ms = L, 274 590 | b) 74
90° F ., i <C) 820 )
; e d)37°
D G




4) mRQ 5l = LTz, B
N_ 74

g @
5 max — Ay B
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measures of angles formed by lines intersecting outside the circle.

Find each measure.

0
= a)49.5
m "BCD =3¢0 —9 =264
1) ZA Y b) 990

TN
CRe 2 a6r-997

=51 d)50°

3 6o—)ob = 254 .‘JEZ}
) 0

mI\J = ‘5‘_[2‘5-41 — 1 Oéj C) 530

m<L\ = ?qo d) 35




X — o 0
" y WXY =135 b)257

&)
- C)77 .
' d)144
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measures of segments that intersect in the interior of a circle.

Find x to the nearest tenth.




(2+2) (2+7) =2 (% 410)

4 <7 gy i
0 c)13
LX 14

M L

S35 2y 2 1 daciticall gladll pold Stoef

measures of segments that intersect in the exterior of a circle.

Find x to the nearest tenth.

1 . b)12
ZaN I

a)ll
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Write the equation of a circle.

Write the equation of each circle. /)
h X Y -:'?_J_f !./‘—5\ 2\) >\-‘/ Q/""S
1) center at (9, 0), radius 5
IR Ry VRS SN
@ (3‘ "9_)Q+ (5 - o)_&:_ 5-2

@ (1-9)°'+ ﬁ2:25

- ST h X k)
2) cénter at (3, 1), diameter 14 -z
B (e-wy + G-k =v"

@ (-3 5y -L)’L:"-Zz

S (x-37, (9-1)"= 49

Jj‘(') (o,0 ) . Z
3) center at origin, passes through (2, 2)



h K L -
4) center at (—5, 3), passes through (1, —4)

A =nVs (3-kY =

@ (xrsy+ (8 )=
® Grsy (—‘#3)”':;}”':85
@ (X535 (-3)= g5

5) |y Ceqtecr = (_h,l(): (2)1‘) /_)_L)
Yodius = o \)-)";)) (o’
V/:f;, .1 (-h ¥ (91 F= v
o et L (= "'2)1")" (.3-—5)1: k.,
| (=25 i C"—i)"’:“t

& ~3Y (‘J—-w)i—:, ¢ -

(Z =3 )‘2 ¥ (_D- ""/)1: A'Z.QS

(0, —6)
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Find areas of circles

Find the area of each circle. Round to the nearest tenth.
Acea o*‘é aciccle 37 ao L~
A =TT ¢

=7 <\'3332: 10_5 V\?’




